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IBM C2090-461 : Practice Test

Question No : 1

What is the maximum number of rows that can be processed during a single Extract or
Archive Process in Optim version 97?

A. 100,000

B. 999,999,999

C. 999.999.999.999
D. 1,000.000.000.000

Answer: A

Question No : 2

A customer requires the archival and archival browsing of data residing in Teradata. what
component(s) is NOT required?

A. Teradata Client Libraries.

B. IBM DB2 Federation Server.

C. Optim on a distributed platform.

D. Optim Connect Server and Optim Connect Studio.

Answer: A

Question No : 3

What DBMS are supported for the Optim Directory database when using Optim 9.1 for
Designer?

A. Oracle. Informix. DB2 LUW

B. Oracle, DB2 LUW, SQL SERVER

C. Oracle. DB2 LUW, SQL SERVER. SYBASE ASE

D. Oracle. Informix. DB2 LUW. SQL SERVER, DB2z/0S

Answer: B

Question No : 4
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